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[. Circle true (T) or false (F) based on the information below.
@her is 43 years old. He used to be an engineer; b;;t now he is dd_O(,LOI_}
(T ) BhIL 4230WTHEHY THA
2.(1T £y BHEIL 433VWTT,
3(T Fy bl Az Tryy=Teuma CL7A,
4(T Fy BHEIT Fx2 ITrYZTeumia Tl
HYYFHATL
s(T Fy BHIE vwE Wl » T,
6.(T F)y HHIL Wi wlLeTld Y FIHA,
T Answer the following questions using negative ending responses.
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. Answer the questions according to the pictures below.
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A. Circle the correct answers.

HELXALE DY (A= B ULV T,
TAUXAIT 2% (A 725y B ULV T,
CBUWXAE 9 (Avvy B S W) T,
BY o XAL &Y (Avnvy B SV T,
WLIXAD (I9LIE (A B B EBX0) T,
L IAD T LT (AaBbnSy BBBEIW) T,
Lh XL ALDITH (A vy B . ALUHNV) T,
Y BLXALIEL HEDOFS (A ANy B AUV T,
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B. Circle the correct answers.

LHILXAIE 425 (A7 TT B UL TYE) .
2LV AIE oY (AL TT B HELLNWTT) o
3.LXALD () LIE (ABEELLVTd B LELILLWTE)
4. At TXLNEL HEDTA (A WAL TT B AU T

C. Answer with a negative ending reply.
Ex. [TAUIAL #8720 Tdh,

VO A L AT, or WAL B EHE A
LdhELXAIE 44 DT E A,

2B LW XAIL AT T,
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{I. Write your answer b'l%cd on fact using an adverb from the h%t below.
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1. Answer the questions based on the pictures below.
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A. Circle the correct answers.

HEIXALE (A FH B FARWG) TT,
HEIXALIT H2 (Adbovy B EFA) T,
HEZXALE (A LTS B IBXN) T,
WELGIALIE (A LT B IBEIV) TT,
WEL ) IAIE HLA (A Fdy B EAAV) T
B L XALIE (AT lyy B UxE) T,
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B. Answer the questions using negative ending responses.
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